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Let: FQK := 2.964371450-10 17-newton which is the electrogravitational force constant.
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The above equation is the electrogravitational equation without the correction constant CFU. When
Fecq is multiplied by the correction constant CFU, we arrive at the force of one newton unit and the

correct force for two electrons separated by the radius of the lowest energy level of atomic hydrogen
atn=1.
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Next, the standard gravitational force at the same R,,; parameter used above is derived.

Let: GN = 6.672590000-10 11-newton-m2~kg_2 Slunits of gravitational constant.
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The error between the new electrogravitational equation and the standard Newtonian derivation is
shown above.

Below is the more correct electrogravitational constant that can be used to replace the Sl
standard gravitational constant.
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The agreement between the corrected Newtonian force equation and the electrogravitational force
equation with the corrected units modifier constant is extremely small as shown above. This
suggests that the gravitational constant not only needs different units but also a correction in
magnitude in the plus direction as shown below.
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